COMFORT KITCHEN



SY 216/1, BANDAPURA VILLAGE & MAIN ROAD, MARSUR POST, ANEKAL TALUK, BANGALORE-562016

Mobile: +91 - 9741406252, +91-8220007697 E - mail: sales@comfortkitchen.in Website: www.comfortkitchen.in

Quote No : CK.SA.12.23.35R1	Date : 28-12-2023
Quote To :	Deliver To :
M/s. Travel Food Services	M/s.KFC
Bangalore	Bangalore

As per your requirements we are please to present our quotation for SS Equipments

SI NO	ITEM DESCRIPTION		DIMENSIONS IN MM			UNIT	RATE	AMOUNT	GST %	GST AMOUNT	TOTAL AMOUNT
SINO	II EM DESCRIPTION	LENGTH	WIDTH	HEIGHT	QUANTITY	UNII	KAIE	Amooni	GS1 %	COT AMOUNT	TOTAL AMOUNT
1	SS304 - DRAIN GRATING - Removable SS Grating made out of 25mm SS304 Square pipe.Grating support angle made out of 30x3mm SS304 Angle , 20 gauge SS304 perforated sheet with 3mm dia holes at 25mm CTC.	600	300	30	5	Nos	7500.00	37,500.00	18%	6,750.00	44,250.00
2	SS304 - DRAIN GRATING - Removable SS Grating made out of 25mm SS304 Square pipe. Grating support angle made out of 30x3mm SS304 Angle , 20 gauge SS304 perforated sheet with 3mm dia holes at 25mm CTC.	300	300	30	2	Nos	4200.00	8,400.00	18%	1,512.00	9,912.00
3	TRANSPORT CHARGES				1	Nos	2500	2,500.00	18%	450.00	2,950.00
	TOTAL							48,400.00		8,712.00	57,112.00

General Terms And Conditions

GST And Other Taxes: Added

Delivery: 10 Days From The Date of Purchase Order and Advance.

Freight charges: Added

Scope of Work: Supply and Installation of above Equipments (Civil, Electrical, Plumbing works Doesn't comes under our scope we only submit you the requirement)

Quotation Valid: Up To 30 Days

Payment Terms: 70 % - Advance Along with PO, 30 % Before Delivery

Warranty: One Year Against Any Manufacturing Defects (Wear and Tear Items Like wire, Wheels, Coils, Switches Doesn't Comes under Warranty)

We trust the same is in order. In case you need any further clarifications please feel free to get in touch with us. We look forward to your valuable order.

FOR **COMFORT KITCHEN**

Authorized signatory

		Qty		Comfort	Kitchen		Gross	kitchen	Riya sales		
s	Sr no				Negotiate d						
			1st rate	total	rate	Total	Amt	Total	Amt	Total	
	Drain grating										
1	600x300x30	5	11,450.00	57,250.00	7,500.00	37,500.00	7,500.00	37,500.00	7,500.00	37,500.00	
	300x300x30	2	6,950.00	13,900.00	4,200.00	8,400.00	4,500.00	9,000.00	4,200.00	8,400.00	
				71,150.00		45,900.00		46,500.00		45,900.00	



Quotation

RS/23-24/139

27/Dec/2023

27/Dec/2023

RIYA SALES

GODOWN AT PLOT NO C 156, KH NO 77/22, SWARN PARK

EXTN, WEST DELHI

SWARN PARK EXTN Delhi 110041

dharmenderrawal82@gmail.com riya.sales01@gmail.com

9810365552

GSTIN: 07AHYPR3041D3Z3 PAN No: AHYPR3041D

MSME: UDYAM-DL-03-0015793

Ship To

Quotation No

Quotation Validity

Date

Name : TFS

Address : KFC BANGLORE , Karnataka

Quotation For :

TFS

KFC BANGLORE

Karnataka

Sr.	Name of product	HSN/SAC	QTY	Unit	Rate	Taxable Value	lue		Total	
No.	·						Rate	Amount		
1	SS Drain Grating SIZE-: 600X300	7323	5	NOS	7500	37,500.00	18.00%	6750.00	44,250.00	
2	SS DRAIN GRATING SIZE-: 300X300	7323	2	NOS	4200	8,400.00	18.00%	1512.00	9,912.00	

Terms And Conditions:

1-- 100% Advance with Purchase Order on Imported.

- 2-- 50% Advance with Purchase Order & 50% at the time on dispatch.
- 3-Delivery Time-: 12 TO 14 Days.
- 4-Freight extra as actual.
- $\hbox{5-Unloading Customer scope}.\\$
- 6-warranty 12 months.

Taxable Amount	:	INR 45,900.00
Add : IGST	:	INR 8,262.00
Tax Amount : GST	:	INR 8,262.00
Total Amount	:	INR 54,162.00

BANK DETAILS

Account Holder Name	Account No	IFSC code	Bank Name	Bank Branch Name	
Riya Sales	9810365552	KKBK0004601	Kotak Mahindra Bank	DELHI PEERAGARHI BRANCH	

For RIYA SALES

Proprietor

Authorized Signature

QUOTATION



GROSS KITCHEN EQUIPMENTS

G/78, GR. FLOOR, KOHINOOR MALL, KOHINOOR CITY, KIROL ROAD, KURLA WEST MUMBAI 400 070. www.grosskitchenequipments.com

GSTIN No 27ASPPA0502N1ZT

Mr.SWAPN	NIL SUTAR VEL FOOD SERVICES							QI NO.	Dated
Shiv Sagar	r Estate, A Block, 1st Floor, Dr Annie Besant Rd, Worli,							QI NO.	Dateu
Mumbai, N	Maharashtra 400018							GKE-QI-1251	27.12.2023
Sr. No.	DESCRIPTION OF GGODS	SIZE	MODEL NO.	QTY	RATE	Amount	Gst Rate	Gst Amount	GRAND TOTAL
1	S.S. GRATING WITH PERFORATED TRAY AND	600X300		5	7500	37500.00	18%	6750.00	44250.00
	ANGLE FRAME					0.00	18%	0.00	0.00
2	S.S. GRATING WITH PERFORATED TRAY AND	300X300		2	4500	9000.00	18%	1620.00	10620.00
	ANGLE FRAME					0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00	18%	0.00	0.00
						0.00		0.00	0.00
							18%	0.00	0.00
		Taxable Value				46500.00			54870.00
		<u> </u>					Transportation		0.00
		GRA	ND TOTAL	54870.00					

Payment Terms for Fabricated Equipments :- 100 % advance .

Transportation:- Extra

Unloading & Matari:- By buyer

Warranty:- 12 month from the date of Delivery.

Delivery:-Within 10-15 days after receving Confirm Purchase Order & advance.

For Gross Kitchen Equipments

Authorised Signatory